I

N\

=

P — DUCATI SCRAMBLER 800 ICON / ICON DARK  2021-2022

T?MIIIU' X-M1

I TALIAN 5TYLE]

Catalytic Converter
Cod. ACC.076.A1

Optional for D.050.LC4B
Included in D.050.KC4B

# DESCRIPTION PART NUMBER

1| Tubo di raccordo / Link pipe 9773D050SCAXA 1

2| Tubo diraccordo / Link pipe 9773D0505C4XB 1

3 | Silenziatore / Muffler 9773D050SC4XC 1

4 | Tubo diraccordo / Link pipe 977300505C4XD 1

5 | Fascetta @ 44/47 mm / Pipe clamp @ 44/47 mm 50.FA.006.1 1

6 | Dado M6 autobloccante / M6 locknut 50.73.112.1 1

7 | Rondella M6 / Washer M6 50.73.187.1 1

8 | Vite M6 x20 / Screw M6 x 20 50.73.422.1 1

9 | Silenziatore / Muffler db killer 50.DK.164.0 X-M1 @55 1

10 | Staffa / Bracket 50.55.1408.0 1

11 | Vite M6x16 / Screw M6x16 50.73.087.1 2

12 | Rondella M6 / Washer M6 50.72.027.1 2

13 | Vite M8 x 16 / Screw M8 x 16 50.73.098.1 2 APPLICAZIONI / APPLICATIONS

14 | Rondella di sicureza / safely washer 20736041 2 CODICE/CODE | SILENZIATORE / MUFFLER |  TUBO / PIPE NOTE

15 | Molla ultracorta / Ultra-short spring 50.73.951.1 3

16 | Tuboin gomma per molla / Rubber pipe for spring | 50.73.210.1 2 DUEDLCAE STEEL BLACK INOX/ ST, STEEL CATALITIC CONVERTER NOTINCLUDED
17 | Molla corta / Short Spring 50.73.123.1 ) D.050.C4B CATALYTIC CONVERTER INCLUDED




